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18P/306/25(Set-1)

No. of Questions : 120
e B G 120

;i;u; ':;;f;;;rsl [ Full Marks : 360
. [ qoIfF: 360

Vote : (1) Answer as many questions as you can. kach question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

Hﬁwﬁmmwﬁmmmaﬁﬁmmms(ﬁﬂﬂ)sﬁﬁm?n
T% Teld TR @ foIY TF & BIeT iy | v IART U¥ &1 U
I &I

(2) If more than one alternative answers scem lo be approximate to the
correct answer, choose the closest one.

afe (EfeE daford ST ud IR @ e wdd @ d Reeaw g8 s
g
Directions : (Q. No. 1) : Read the following passage carefully and answer the questions
that follow by choosing the most appropriate option from the four alternatives.

Generally speaking, a newspaper carries weight. It carries weight if it has an
ndividuality and some kind of a crusading spirit. If it has not got these, it merely
expresses the views of some individuals which have some effect of course, but not the
'vpe of effect which a newspaper ought to have. Perhaps this is also largely due to the
‘act that newspapers progressively become huge industries ......... not only individual
industries but soon they reach the next stage of development, perhaps an inevitable
~tage, although an undesirable one. That is, they become big combines starting a chain
'f newspapers and dictating policies often detrimental to the interests of the country.
Secause of these big chains, a newspaper loses its individuality and sanctity which
very paper so zealously guards. It tries to preserve some vested interest and presents
~ome particular view point only.
(3) P.T.O.
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18P/306/25(Set-1)

1.

Directions :
meaning of the word given in italic.

2.

A newspaper carries weight, if it tries

(1) to preserve some vested interest

(2) to present some particular view point only

(3) to guard its individuality and sanctity

(4) to become a huge industry

grab :
(1) seize

(3) pollute

qory :
(1) friendly
(3) blood stained

branch :
(1) multiply
(3) whiten

knotty :
(1) strong
(3) placid

nauseate :
(1) sicken
(3) frustrate

(2) disown

(4) accept

(2) white

(4) bedridden

(2) diversify

(4) activate

(2) stocky
(4) thorny

(2) ripen
(4) penetrate

: (Question No. 2 to 6) : Select from the four alternatives the nearest in

Directions : (Question No. 7 to 11) : Select from the four alternatives the opposite in

meaning of the word given in italic.

/¢

Fallotw :
(1) true
(3) reductive

(4)

(2) fake
(4) productive

-
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18P/306/25(Set-1)

8. smite:
(1) hit (2) defend
(3) refuse (4) accept
9, giddy:
(1) steady (2) shaky
(3) curly (4) huge
10. jumble :
(1) mix (2) skip
(3) arrange (4) enable
11. emit:
(1) ruin (2) suppress
(3) exhale (4) express

Directions : (Question No. 12 to 16) : From the given options choose the one which has
the correct spelling.

12. (1) diareah (2) daiarrhea
(3) diarrhoea (4) diarrhoae
13. (1) complaicent (2) complascent
(3) complasent (4) complacent
14. (1) aerial (2) ariel
(3) aireal (4) aeriel
15. (1) independence (2) independance
(3) indipendence (4) indipendance
(5) P.T.0.
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18P/306/25(Set-1)

16.

Directions : (Question No. 17 to 21) : From the giv

(1) orckestra (2) archeslra

(3) orchestra (4) arckestra

be substituted for the given group of words.

i

18.

19.

20.

21.

A man who hates women :

(1) misogynist (2) effeminale
(3) misanthrope (4) womanizer

A man whose wife is dead :
(1) philanderer (2) widow

(3) widower (4) philistine

A rich person who helps the poor by giving money :
(1) diplomat (2) philanthropist

(3) aristocrat (4) autocrat

Capable of producing the intended effect :
(1) efficacious (2) affecting
(3) affective (4) elfecting

An animal with four feet:
(1) biped (2) four-footed
(3) four-legged (4) quadruped

en options choose the one which can

Directions (Question No. 22 to 26) : Choose the best option to fill in the blanks :

22.

He beat him witha ..............
(1) lace (2) lash
(3) lack (4) lac

(6)

collegedunia

—



18P/306/25(Set-1)

23. lamnot ready o . such a gentleman.
(1) inculcate (2) inculpate
(3) incubate (4) incorporate
24. Shedidn't.............. the idea of going home in the dark.
(1) imagine (2) think
(3) want (4) fancy
25. Hewent.............., last year.
(1) show (2) bankrupt
(3) church (4) unjust
26. She didn't tell me anything but her .............. expressed everything.
(1) gestures (2) books
(3) case (4) lot

Directions (Question No. 27 to 31) : From the given options choose the most
appropriate preposition to fill in the blanks.

2t Heiasswk casans the same old love.
(1) in (2) from
(3) of (4) with
28. Which date was she born ............. ?
(1) In (2) at
(3) on (4) with
29. The patient was prevented ............ commiting suicide.
(1) with (2) in
(3) for (4) from
30. The teacher testified ............... the character of his pupil.
(1) for (2) to
(3) of (4) no preposition
3. Heiswniting .....c.conemims a pen.
(1) by (2) from
() with (4) of
(V) PT.O.
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18P/306/25(Set-1)

Directions (Q1

iestion No. 32 to 34) : Choose the option ior the underlined expression

in the given sentences to make the sentence grammatically correct.

92. Sudhir has passed the examination in 2012

33.

34.

(1) had passed (2) have passed

(3) passed (4) would pass

Being a hot day, she didn't go out.

(1) Being it a hot day (2) It was a hot day

(3) Having been a hot day (4) It being a hot day

[ am knowing her since her childhood.

(1) have known (2) have been knowing

(3) had known (4) had been knowing

Directions (Question No. 35 & 36) : Choose the option that best expresses the meaning
of idioms given below.

35.

36.

37.

38.

Come round :

(1) make circles (2) regain consciousness

(3) complicate (4) resultin

Dash off :

(1) compose hurriedly (2) skip off

(3) disappoint (4) enter one's house

Present ages of X and Y are in the ratio 5 : 6, respectively. Seven years hence

this ratio will become 6 : 7 respectively. What is X's present age in years ?

(1) 35 (2) 42

(3) 49 (4) Cannot be determined

X du1 'Y &) gHH S9 BT AU FHAR 5: 6 81 7 T X A SFTE 6 : 7 €1 A0
g X @ g9 ang &

(1} 35 (2) 42

(3) 49 (4) FeifRa 58 fbar o waar

A does a work in 10 days and B does the same work in 15 days. In how many
days they together will do the same work ? ‘ |

(1) 5days (2) 6days
(3) 8days (4) 9days

(8)
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39.

41.

42.

18P/306/25(Set-1)

A T o @1 10 R & gy #ve 8 qen B vl a1 @ 15 9 § @ w9 wen 2
a1 TAAaR S ax ot 99 @ @1 fbas R # qu 3% ?

(1) 5= (2) 627 (3) 8faH (4) 9f2=

A car is running at a speed of 108 kmph. What distance will it cover in 15
seconds ?

(1) 45m (2) 55m

(3) 450 m (4) Cannot be determined

Td R 108 fbodte gfd w21 &t ft & wa @ 21 159 A fbah @ omeh ?
(1) 45 o (2) 55 %0

(3) 450 #to (4) FuiRda =& e s g

A boy goes to his school from his house at a speed of 3 km/hr and returns at a

speed of 2 km/hr. If he takes 5hr in going and coming, the distance between his
house and school is :

(1) 5km (2) 5.5km (3) 6km (4) 65m

U6 FSHT AT R A W 3 o Mo yfd gver & ofa | wmen & dun 2 Bo Ao
g gver &l Y F a9 AT 81 §9 TSR I IR T A B 5 " o £
Fs® & W | Reem & g &t -

(1) 5 fdHoHlo (2) 5.5 f@o#to (3) 6 fFHoito (4) 6.5%0

Two trains are running in opposite directions with the same speed. If the length
of each train is 135 m and they cross each other in 18 sec, the speed of each train
1S :

(1) 104 km/hr (2) 27 km/hr
(3) 54 km/hr (4) 100 km/hr

2 Yo Ruda e d v & nfa 4 3 @ §) IR y@d YemS A =g 135
flo & TT A UH R BT 18 WDvs H HR HR AN €, A1 YIS B vfy @

(1) 104 fHoHlo /aver (2) 27 fBo#to / gver
(3) 54 fHeHlo /HUeT (4) 100 oo / Tvey

The speed of a boat in still water is 8 kmph. The boat goes 6 km and back to the
starting point in 2 hr. Find the speed of the stream :

(1) 4kmph (2) 6 kmph (3) 4.4 kmph (4) 5 kmph
(9) P.T.O.
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18P/306/25(Set-1)

43.

44.

45,

46.

47.

e T & W @ @ § frorfio gl aver 8| 7@ 6 fworio Tﬂrﬁléﬁ?ﬂa’WWﬂ
e R T o @ Rrl g e 280 wad &1 AR B Al el o

(1) 4 fFoflo yid gver (2) 6 fbotflo Tfdy Toe

(3) 44 fhoMo ufay woer (4) 5 koo gfa TUeT

In what ratio must a grocer mix two varieties of pulses costing Rs. 15/ kg and
Rs. 20/kg respectively so as to get a mixture worth Rs. 16.50/kg ?

2 TPR B e @ b ama # el % el gy ogrd @ @EE 16,50 w0 i
frolo B Wafd TH THR H1 aTd &) S 15 To ofd fBowio & a2n g3 7R @)
T B DEd 20 To ufq fHosme & 7

(1) 327 2y 5if (3) 73 (4) 7:5

A 5 m wide lawn is cultivated all along the outside of a rectangular plot
measuring 80 m x 40 m. The total area of the lawn 1s :

TE STAATER Fer R et W A 80 Ao x 40 WMo ¥ | TG AW ARG 3 &
) W A TS BReT o w@l 8 a1 o o1 Bt EmE &N
(1) 1200 m? (2) 1300 m? (3) 1350 m-° (1) 4800 m:

Find the missing term in each of the following guestion :
feg oyt & w@rell ug g
POQ, SRT, VUW, ?
(1) XYX (2) XZY (3) ZYX (4) YXZ

How many such 4 are there in the given series which is immediately preceded
by '7' but not immediately followed by 3 ?

fyr R gy Aol A 4 Rl @ omn  ofafh 4@ gd 7 qun w3 Ry 2
593217426974613287413832567439520187463
(1) 3 (2) 5 (3 o (4

In a certain code language MORALE" 1s wrilten as ‘NPSBMF, how will
'CHARGE' be written in that code language ?

(1) CIBQHF (2) DIBSHF (3) DIBQHE (4) DEBQHF

U @S 9T § 'MORALE &1 NPSBMF' @ @rar € ot CHARGE &1
forear sl ?

(1) CIBQHF (2) DIBSHE 3 IIBQHF (4) DEBQHF

(10)
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18P/306/25(Set-1)

48.  Ram walks 10 m towards Fast, then turns towards North and walked 15 m and
then after turning to the West he walks 10 m, there after he turns towards South
waiks 15 m. How far is he from the starting point ?

(1) Om (2) 2m (3) 4m (4) 5m

10 Mo e fRen # goar € g9d aw IR fw # g 15 fo vomn 2| @
arz a8 qi¥gH fem # geax 10 fier gqan &) advaa ¥ fRer & 9w wen @
3R 15 #lo Fadr € | 3™ T fag | e gx & 7

(1) 0o (2) 290 (3) 470 (4) 50

49. In a row of boys, A is tenth from the left and B is ninth from the right end. If

they interchange their positions, A become fifteenth from the left. How many
boys are there in the row ?

(1) 23 (2) 27 (3) 28 (4) 31

ASHI B [P FAR H A BT I B 1097 2 a2 B < W 99 o @) 2| R A aen
B o1 MW H 93 A € dl A 7 A9 WFE i | 15481 & W 3| wOR A @5
fFrm s & °

(1) 3 (2) 27 . (9) 28 (4) 31

Direction : (Q. No. 50 to 53) :
Study the following sitting arrangement carefully and answer the given questions :
=T dg @ 9w @ eIF A ue T 3T g U @ SR T
P,Q.R,5 T, U, Vand W are sitting around the circle and are facing the centre.
P,QR,S T, U Vaa WTs gUdR & cdd TR ds Dl TG J§ I 90 ¢ |
(a) P issecond to right of T who is the neighbour of R and V.
P,T® g@ T2 481 2, T, RT2n V &1 qerf 2 |
(b) Sis not the neighbour of P.
S, P &1 gerf A% B |
(c) V isthe neighbour of U.
V, U@t gsrf |
(d) W issitting between U and S.
W, U@ S& drg dar 2|

(11) P.T.O.
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18P/306/25(Set-1)

50.

51.

52.

53.

94.

995.

Which two of the following are not neighbours ?

(1) RV (2) UV (3) RP
=1 3 @ w7 omast o Ter) 5 & 7

(1) RV (2) UV (3) RP
Who is at immediate right of V7

(L).E 2) U (3) R
®F VE g afed 8 2

(L) F (2) U (3) R

Which of the following statement is correct ?

4) Q5

(4) Q5

(1) Pisto the immediate right of Q (2) Risbetween UandV

(3) Sis to the immediate left of W (4) U is between W and S

fFre1 4 @1 98 &Y+ & 7

(1) P,Q® = ameq 2| () RUamr va &g # |
(3) S, W& TR a1 431 g | (4 U waenm S drg 5 g
What is the position of S ?

(1) Between U and V (2) Second to the right of P
(3) To the immediate right of W (4) Data is inadequate

S @1 WIH 8N

(1) Uten V& 49 (2) P ST T/ W 0¥
(3) Wa qe=a ifes (4) BTeI AT B

IfA:B=5:7B:C=6:11thenA:B:Cis:

(1) 55:77:66 (2) 30:42:77 (3) 35:49: 42
g A:B=5:7,B:C=6:11d1A:B:CE&nm :

(1} DHLTY 200 (2) 30:42:77 (3) 35:49:42

The smallest no. of three digits is :

(1) 111 (2) 100 (3) 990

A4 ofd] & gEd BId) G &

(1) 111 (2) 100 (3) 990
(12)

(4)

: 42 : 96

TJ'I
g}

999

Y99
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18P/306/25(Set-1)

96. i X is the brother of the son of Y's son, how is the X related to Y ?

(1) Son (2) Brother (3) Cousin (4) Grandson
MXYDPEI AR AR E NXY T Gag @1 & ?
(1) 73 (2) wTE (3) TawT g (4) dran

57. Choose the correct option which completes the series :
ADG, XVT, BEH, WUX, ?

(1) VIR (2) STU (3) DF] (4) CFI
& e gy o1 Aot &1 @ & 2

ADG, XVT, BEH, WUX ?

(1) VIR (2) STU (3) DFJ (4) CFI

58. A walks slower than B and B walks faster than C and C walks faster than E,
then who walks the fastest ?

(1) A (B
(3) Can't be determined 4 D

® W B e € g § TUT W@, T P VT O gAdl & aUl ', " ey
a9 gordl &, a1 ®IF ey O gdar & ?

(1) A (2) B
(3) fuifRa =8 far w1 |ar 2 (4) D

Direction : In the following question choose the set of numbers from the four
alternative sets that is similar to the given set.

Praforfed wea ¥ R T ar uReds wqwdl @ waay s @ $wEd 31 g

59. Givenset: (4,9, 18):

(1) (8,14, 22) (2) (10,15, 25)
(3) (6,12,23) (4) (12,17, 26)
HqTay 9qigyq : (4,9, 18):
(1) (8,14, 22) (2) (10,15, 25)
(3) (6,12, 23) (4) (12,17, 26)
(13) s e A

gcollegeduniaa

—



18P/306/25(Set-1)

60.

61.

62.

63.

64.

65.

If ARUL could be given the code number 52, what code number be given to
BINA ?

(1) 50 (2) 26 (3) 30 (4) 42

afz ARUL &7 52 BT W & @t 8, o BINA 31 &1 $1s e el 7
(1) 50 (2) 26 (3) 30 (4) 42
What is the valueof H+ B+ F?

(1) 20 (2) 16 (3) 17 (4) 15
H+B+F'EETEI_';_6¥II‘T’T‘B‘TTH:

(1) 20 (2) 16 (3) 17 4) 15

How many times from 4 : 00 PM to 10 : 50 PM the hands of clock will be at right
angles ?

(1) 9 (2) 11 (3) 10 (4) 6
4:00PM 3 10:00PM @ 9 fFal IR o & & 90° & oY w= wrft 2
(1) 9 (2) 11 (3) 10 (4) 6

If + means x, + means —, X means + and - means + the value of 4 + 11 + 5-55 i«
(1) 79 (2) -11 (3) 91 (4) 94

gfe + &1 Adcd x, + BT HGAd -, X BT Aqed + AN — & Aded + 8L 4 + 11 = 5-55
H1 HIE N

(1) 79 (2) -11 (3) 91 (4) 94

How many numbers from 11 to 50 are there which are exactly divisible by 7 bul
not by 37?

(1) 2 (2) 4 (3) 5 (4) 6
11ﬁ50$mﬂqa%ﬁmﬁ§aﬁ7<§{uhmﬁinﬁasﬁ%ﬁ3ﬂaﬁ
g e ?

(1) 2 (2) 4 (3) 5 (4) 6

The average of first 50 natural numbers is :

(1) 25.0 (2) 255 (3) 26.00 (4) 26.5

5| 50 wrgd et @1 aftaw &

(1) 25.0 (2) 25.5 (3) 26.00 (4) 26.5
(14)

collegedunia

—



66.

67.

68.

69.

70.

18P/306/25(Set-1)

The ratio of the ages of A and Bis 4 : 5. After 5 years the ratio of their ages will
be 5 : 6 respectively. Then present age of A is :

(1) 10 years (2) 20 vears (3) 25 years (4) 40 years

A T B @ IO Y BT U HHE 4 : 581 5 94 4ic Y@ U HE 50 6 B
AR | A @ FEAT 3 ©

(1) 10ad (2) 2094 (3) 2594 (4) 4099

Salary of Ramesh has been increased by 20%. Due to some reason his new
salary has been reduced by 20%. Then how much percent salary of Ramesh will
gain or loose ?

(1) 4% loss (2) 4% gain (3) 5% loss (4) 5% gain
WY B daq A 20% gfE I D T 98 gY 99 B BN FROT 20% T B Q
T a1 39 yBR WY & faq wfavd o sua g 8l ?

(1) 4% I (2) 4% & (3) 5% ®@f (4) 5% @M

A watch was sold in Rs. 1140 by loss of 5%. To gain of 5% the watch may be
sold at what selling price ?

(1) Rs. 1200 (2) Rs. 1250 (3) Rs. 1260 (4) Rs. 1270

T TS B Bo 1140 F 3T F 5% T BRR 21 39 6w B fEd A 9w o
g T 5% T &8I 7

(1) 1200 (2) 1250% (3) 126072 (4) 12702

The length of a side rectangle is 15 cm and its diagonal is 17 cm. Then the area
of Rectangle is :

(1) 225 cm? (2) 200 em? (3) 150 cm? (4) 120 cm?

vE AR A T 15 Yo Mo T 3w Raol A e 17 Wo Ao ¥ 3mTd F
SAEE BT

(1) 22537 ¥#r (2) 200 < a9 (3} 150 @ & (4) 120 @ 0

25

i

1S
125

The value of

29
0125
(11 3 (2) 10 (3) 15 (4) 20

H1 {9 B

(15) P.T.O.
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18P/306/25(Set-1)

71.

72.

73.

Which one among the following is greatest ?

Y 11 16 21
9'13'19°25
3 11 16 21
M 5 2 3 B 5= * =
A FEgg asi e ?
7 1116 21
9131925
7 11 16 21
(1) 3 (2) 3 (3) 9 (4) 25
‘A + B' means 'A is the daughter of B’
" A x B’ means 'A is the son of B’
‘A - B' means ‘A is the wife of B'
If P x Q-S, which of the following is true ?
(1) Siswifeof Q (2) Sis father of P
(3) P is daughter of Q (4) Qs father of P
'‘A+B @ 3 g A BD TS B
"AxB @3t g 'A,BHIJF B
‘A-B @ 3 A, B@ g 2
AT PxQ-Sal fA= § @ A 8 ?
(1) S, Q@ ush B (2) S, P far 2|
(3) P,Q® T 2| (4) QP far &)

A type of tourist who seeks novelty at all costs even at discomforts and dang
and prefers to be a part of community to study the behaviour and culture of t
local people :

(1) Allocentric (2) Midcentric

(3) Psychocentric (4) Drifter

WTh BT Ud YHR W TP HHG W AR T8 ad d aghur ok w3 =
g8 WA AP B WY PEER AR WP B IR - W $ fw S9e ©
AT BT AR §

(1) T (2) fredfes

(3) wEPrfcs (4) fywex

(16)
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74,

75.

76.

18P/306/25(Set-1)

What is the name of Mantaign’s travel book ?

(1) The voyage the great (2) Journal de voyage
(3) Voyage de world (4) Travel de world
HISH &1 AT QT &1 A9 @ 8 7

(1) & oy R 9 (2) e & g

(3) dws ¥ gee (4) 2@ & aed

The employment which is created as a result of expenditure by local residents
from the money earned from tourism is known as :

(1) Direct employment (2) Indirect employment

(3) Induced employment (4) Generated employment

TR W RINT R §RT 9ded A dfuid o9 &1 @9 a3 Q 991 8 & a7
fbar 9 @ ST T & °

(1) weaes ISR (2) 3ITcaet AR

(3) fmRa AR (4) Jrfed IR

This consists of two lists of philosophers and philosophies. The candidate has
to match an item in one list with an item in the other.

List - I List - 11

(Philosopher) (Philosophies)
i. AdiShankara A. Visishtadvaita
ii. Ramanujacharya B. Dwaita
iii. Madhwacharya C. Adwaita
iv. Nagarjunacharya D. Mahayana Buddhism
Codes :

[ il i1 iv
(1) B A ¢ D
2) C B A D
3) D C B A
(41 A B C D

(17) PT.0

gcollegeduniaa
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77.

i, SPEIAATIR

iii. #rrgrard

iv. ARITSATETd

@cC

©

(1) B
@ C B
3) D
4 A B

iii
C
A
B

C

-1l
(i)
A. Rfrera
B. #d
C. 3gd
D. Werm dlg o
v
D
D
A
D

Revenue Per Available Room (Rev PAR) is used to evaluate the vield. It i
calculated by using the formula :

Actual room revenue
Number of rooms available
Actual occupancy percenlage

(1) Rev PAR =

(2) Rev PAR =

(3) Rev PAR =

(4) Rev PAR

—

e ufd Suaa

(1) ¥ 9R (Rev PAR) =

(2) ¥ UR
(3) ¥ IR

(4) ¥a IR

Average Room Rate

Average Room Rate

Number of rooms sold
Actual room revenue

Potential room revenue
&1 (Rev PAR) 1 @el TS & Yollds J wyaw fmm ey
e BP{e | g TOET B 8 7

H

qrafas & W IAE
JUTER] HEI] D) FLT

arifas aifeer @ gfaeram

G R EREE e Bt

fhvrd 9% I M FIRT B A

PN DB ARAS HHE

G L HE I L G

(18)
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This consists of two lists of airlines and their own hotel chains. The candidates
have to match the airline with their hotel chain.

List-1I
(Air lines)

List - 1I
(Hotel Chains)

. Aer Lingus A. Centaur Hotels
1. Japan Airlines B. Meridien Hotels
iii. Air India C. Nikko Hotels
iv. Air France D. Dunfey Hotels
Codes :
i 1 111 v
(1) A B D C
(2) B D 45 A
3 D C A B
4) B A D C
-1 &1 A1 & gafera piom
- 1 <t - 1
(TIRATZ) (@ed yEan
i, TR fermw A. HeR BT
TR 1116 R E G SRl B. Wafdyq gleed
iii. TaR gfea C. famr greed
iv. TR WIS D. ST 8ced
R
1 11 11 v
(1) A B D €
(2) B D & A
(3) D e A B
(4) B A D C

The document initiated by the Bell captain on a guest arrival is called :
(2) Lobby Control Sheet

(4) Miscellaneous charge vouchers

(1) Errand Card
(3) Scanty Baggage Register

(19)

e N
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80.

81.

82.

o o @ ST O R R AT SRS B &

g e g1l
(1) ©ed EF@ (2) @) @it e
(3) areq [ dovey (4) HETHT ars; AT

Skipper' as per hotel terminology is :
(1) A guest with hand luggage only
(2) A registered guestw ho has not used the room

(3) A guest who has checked out before his scheduled departure date
(4) A guest who has departed without settling his bill

RemR Bed &gell @ HJOR ©

(1) & nﬁfﬁﬁwﬁwmﬂamw@

(2) T etEa A RRE TR @1 ST el flr?.ul

() affy R srgafaa R & @ & ded B8 R

(3) TH IR oy fow @1 FueE A fasn & (e & Ty

Which one of the following is the implict cost of package tour business ?

(1) Accommodation cost (2) Ticket cost

(3) Ground transport cost (4) Research and Development cost
Prefafag § 9 fow wav 8w B IR anrd &

(1) smard anrd (2) fewHe amd

(3y #M uRges @nm (4) dfEnE ¢d fawm @e

Discrimination pricing 1s :

(1) Low price is set in the early stages of the lifecycle in order to build market
(2) Where prices differ according to different market sectors

(3) Where the price is determined by the cost of the products

(4) Where price is set according to the affordability of the market

Harers aiAd a2

(1) f&dh Sees @ oaT o8 @ RS 3 IUd) [& @hd va@e Thie saa fo
TR BT agR fea & 93 |

(2) el aoiR & ffy= @vel § aa 1 4 8
(3) S&TE P AT W DAd BT RO FEr 2
(4) W@l AR @ |l @ R @ w1 PuifRa e s g

(20)
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83. This consists of two lists, the first being the plan & events and the second year.
The candidate has to match an item in one list with an item in the other. :
List -1 List - II
1. National Action Plan for tourism  A. 1958

1i. National committee on tourism B. 1986

iii. Formation of the Ministry of C. 1992
Tourism

iv. Formation of the Department of D. 1967
Tourism, Government of India

Codes :
i il ii iv
(1) D A C 4
(2) C B D A
B) B C A D
4) A D B C
[Al-1 3 G 09 veAn € AR G- A 9 | 3a) va-gEr o gafea Hif
- 1 - 11
i, WSy gded d g A. 1958
ii. WY ude gy B. 1986
iii. gded AATg P I C. 1992
iv. gded faur YR SeR @ wger D, 1967
7T
i 1 11l v
(1) D A C B
2 C B D A
(3) B C A D
4) A D B C
(21) P.T.O.
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84. Tourism as a subject is a part of :

85.

86.

87.

(1) Centrallist  (2) State list (3) Concurrent list (4) Union list
e @7 fuy fud sradd 3 8 7
(1) ®arT -":Eﬁ (2) Wrsq Tfh (3) Hadl T{cﬁ (4) HENY ql—;ﬁ

The process of setting goals and choosing the means by which these goals will
be achieved is known as :

(1) Leading (2) Planning (3) Organising (4) Controlling
I g axa @ ufpar R 99 A gfd & Ry wReET @ wus dEenT
(1) &Tams (2) A (3) dnfed d= (4) P

Assertion (A) : New forms of accommodation has become very popular like
paving guest houses, home stay, bed and breakfast, etc.

Reason (R) : Even the richest tourist who visits India takes an accommodation
in the humble homes of peasants to live and learn the real Indian life.

(1) Both {A)and (R) are true

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation.

(3) (A)1s true, but (R) is false.

(4) (A)1s false, but (R) is true

AFBUT (A) : ARG @ FU ©Y JAT YT A¥E ¥aA, 8F W, 98 IR downe g
IR 81 71 8 |

d@ (R) : ¥Ra B T o 9 o4 wded de N PR e @ usi 6 s
HI B T I URT @ JUR Widd &1 N9 & 0D |

(1) (A) 3R (R) T+ e 2

(2) (A)SR(R) T+ A8 8, W (R) & WLIFH0T T8 € |

(3) (A) T 2 o= (R) e 2|

(4) (A) T@a 8, = (R) ¥e & |

Assertion (A) : Market testing is done to learn how consumers and dealers
react to handling, using and repurchasing the actual product and how large the
market is :

Reason (R) : Marketing testing can be made at a chosen section of the market
on geographical grounds.

(1) Both (A) and (R) are true

(2) Both (A) and (R) are true, but (R) is not the correct explanation

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

(22)
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%ﬂﬂ(A):mqﬂwwW%Wﬁmmé%msﬁ?ﬁﬁﬁn
ﬁﬁﬁﬁﬁﬁmmaﬁéﬁ,aﬂmmv‘mﬁ?gﬂ:mmﬁﬁs%%aﬁwwmfﬁ
fore amoiR & @ wnam & |

@ (R) $ R T wdew W Be & AR B R g s i o
b 2 |

(1) (A)3fR (R)G& &

(2) (A)3MR (R)F& 2, W= (R) T Wedrawor 8 2

(3) (A) W& 2, W= (R) Taid 21

(4) (A)7Terd 2, 9 (R) WY 2|

This list consists of two lists of activities and locations, the candidate has to
match an item in one list with an item in the other.

List-1 List - 11
(Activities) (Location)

i.  Aqua Tourism A. Beach resorts & Hill resorts _

1. Sports Tourism B. Movement of players and sport Admirers
iii. Adventure Tourism C. Trekking, Skiing, Mountaineering, etc.
iv. Resort Tourism D. Hover crafts and Hydrofoils.

Codes :

i 11 111 IV

1) B C D A

(2) D B C A

3) C B A D

(4) A D B
qAR-1 1 721 B FA-IT S 7287 A gafora Bifom

T - 1 -1
(fpar-sam) (RITH)

i, W gded A. @9 RGTE iR wdam R

. @a gdeH B. Reenfeal ik @« afl & geaa

i, WfREw gdes C. 7, Ragn, ydarres sy

iv. R&RE gdes D. 8 FYe 3R BIESHBITed

(23) PTO.
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89.

@cC

1 i
(1) B 3
2) D B
3) C B
4 A D

111

w,

&
A

B

This consists of two lists of museums and places, the candidate has to match an
item in one list with an item in the other.

List-1 List - 11
(Museums) (Place of Location)
i. The Indian Museum A. New Delhi
11.  National Museum B. Kolkata
iii. Prince of Wales Museum C. Mumbai
iv. The Government Museum D. Chennai
Codes :
1 1 111 v
(1) B e D A
2] € B D A
3) D B & A
4 B A C D
-1 2 7 B G-I A HEt g A
-1 - 10
(GUETeq) (Xq1+)
i. YN GUsag A. 7E ol
11. QI#III LUEGE) B. ®IA®GTdT
iii. 9 3% dovi GUEe™ C. =3
iv. OYHT WUBTHT D. 9%

(24)
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] 1 11 A
() B C D A
¥4 S B D A
(3) D B 2 A
(4) B A % D

Which of the following cities are associated with ship building ?

(1) Antwerp (11) Prieste (ii1) Minsk (iv) Hanburg
Select the correct answer using the code given below :

(1) (i), (ii) & (iv) only (2) (i) & (ii) only

(3) i), (iii) & (iv) only (4) (1), (iii) & (iv) only
Frefafaa 4 3 #9-8 T, 3 el @ gefe & 2

(i) Veqd (i) R (iii) =P (iv) &at

(1) 3T (i), (ii) 3R (iv) (2) Bae (i) 3R (ii)

(3) dad (ii), (iii) 3R (iv) (4) Faa (i), (iii) 3R (iv)

Which one of the following is correct ?
(1) The camel ride is the only method of excursion in Jaipur.
(2) The Pushkar fair is held every year in the month of July / August.

(3) The fort of Bikaner was an important place on trade route from Central
Asia to Gujarat.

(4) The sacred Kamakhya Devi temple is located in Bhubaneswar.
feferfiaa # @ ®i9-u1 @81 & 7

(1) SR F 989 $T (HAF GEA He B §an) 2|

(2) G=R BT Aol &R ¥ JAR /PRI B FE § ot € |

(3) &R i o wea Rar qon ToRE & ey enawfie AF W ve wEwaue
7ore] o |

(4) RSN A BT qraa Afew qaavar § Rud 2

(25) PT.O
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92, In which month Surajkund Craft mela is held every year -

(1) january (2) February (3) March (4) April
TEhE EwWfey Ad afead fay W | oidl 8 ?
Yy TR (2) HRE (3) w7 (1) ¥oE

93. Which one of the following is correctly stated ?
(1) Hawa Mabhal is in Jodhpur
(2) Lake Palace is in Darjeeling
(3) Charminar is in Golconda
(4) Prince Albert Museum is in Jaipur
et # ® @ 597 TE 2 7
(1) 891 #&a YR 4 & |
(2) #rer #ead gretfeT # T
(3) R AR MEHvST H 7 |
(4) g wead AOEAg WURE A E

94. The WAGHA border falls in which state ?

(1) Jammu and Kashmir - (2) Himachal Pradesh
(3) Punjab (4) West Bengal

qren A P g A 8 7

(1) SP-HTR (2) g wdw

(3) Ui (4) uRem amma

95. The project Tiger’ was launched in the year :

(1) 1972 (2) 1973 (3) 1974 (4) 1975

T ufRaeEr @ e ad ures far g ?

(1) 1972 (2) 1973 (3) 1974 (4) 1975
(26)
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96. Which one of the

97.

98.

99.

18P/306/25(Set-1)

following temples has the longest corridor ?
(1) Sri Meenakshi temple, Madurai

(2} Sri Ramanatha Swamy temple, Rameshwaram

(3) Sriranganatha Swami temple, Srirangam

(4) Sri Brihadhisvara temple, Thanjavur

fraferien =t & & et a1 wfemmT frw wifR @ & 2
(1) = Hef A3, vgwd

(2) 0 oy wrd wReR, e

(3) = e w@ndt AR, SN

(4) i gEevaw |2, eromgR

"ATT"is an acronym for :
(1 Airport Travel Tax (2) Aviation Travel Time
{3} Airport Transfer Time (4) Airport Transfer Tariff
T A A fus opfm @ 2
(1) TIROE gde1 <o (2) TfaTes 24d 21gn
(3) TIRGE FIEHR TRA (4) TIUIE gRHR 2R
Where the Head Quarter of PATA is located ?
(1) Madrid (2) Paris (3) Amsterdam (4) Honolulu
§ v & v ar qEarey wEl Rad g ?
(1) #fge (2) o (3) TR (4) B
inventories can be considered as :
(1) Asset (2) Liabilities
(3) Profits (4) Loss
HT= [Pl B A O wee #
(1) gfeafer @ &9 # (2) i@ @ w4 3
(3) 79 F FIA (4) & & sy 9
(27) P.T.O.
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100. Which of the following forms apart of an inventory ?
(2) Work-in-progress

101.

102.

(1) Raw materials

{3) Defective goods

(1) ®ear 97t
(3) @& A1

(4) All of the above
fre & 9 - wwfy gd) @& R g ¢ ?

(2) wiadfra F
(4) SR W

Which of the following is also referred to as Inventory cushions ?

(1) Maximum stock

(2) Safety stocks

(3) Stock outs

(4) None of the above

e 4 9 9 et qd R w9 o @ 7
(1) sforwaw <ie & w9 4

(2) VT E & ¥Y H

(3) WF IMIT & HY

(4) SwiEd B & w9 § F8)

Stock must be managed well in order to :

(1) Minimize losses
2) Improve efficiency
(3) Maximize profits
(4) All of the above |
wIE & Jomiifa vaus far s afv
(1) 211 & &9 4 &9 o1 @ Ry
(2) T &7 B GERA B g
(3) &n1 B Hid q JNF T P U
(4) SWF ¥ @ forg
(28)
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103.  The short distance movement of material between two or more points refers to :
(1) Wa rehousing

(2) Transportation

(3) Material handling

(4) Material management
ammﬁw%ﬁaﬁ$aﬁaﬁmﬁ$m§aiﬁﬁwﬁwm%:
(1) woeiRevo (@ grafi)

(2) oRaE

(3) W= B ' H A

(4) ard gaes

104. The management of ................. includes, supplying the product and service,
needs of the end consumer, encompassing the supply chain of any physical
products and the exchange processes involved.

(1) Raw matenials (2) Finished goods
(3) Resources (4) Manpower

mﬁzﬂﬁmmﬂﬂmﬁrﬁwmﬁ$a@ﬁmaﬁwﬁaw&§qm
SUHIFT P ITATADT, [T T IS B A B e F e B -

(1) & \ra (2) TR A
(3) WA (4) ar7a wfe
B, cocussnnnn is the most vital part, the fulcrum on which success of the whole

supply chain exercise rests,

(1) Process integration (2) Branding
(3) Assembling (4) Advertising
. ANED HECAYU AT B, TR0 YRS e A 3 wheE AR W
iR &1
(1) ufhar vt (2) wif&
(3) e (4) Rsmy=

(29) S R
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: v also refer to an
106. Supplier is often used synonymously WIth eveeeeneeeeesees DUL TORY al

internal company resources.

(1) Vendors (2) Wholesaler

(4) Producer
zﬁwmﬁm%éﬁmaﬁaﬁmwxﬁﬂwa%

(3) Retailer

I\ I I o161 ) —
farq oft I I B

(1) fashan (2) e faspa
(3) e fame (4) IeUTED
107. ..ccoooevennn. cOllect all payments from customers and maintains an inventory of

the supplier's or manufacturer's products.
(1) Manufacturer (2) Retailer
(3) Wholesaler (4) Distributor

TRE W W YTEE B ARG BRAT T A SRRl F oA
ﬁﬁﬁ%ﬁfﬂimzﬁquﬂmw-mﬁﬁm%l

(1) fafmforaat (2) Gax [dma
(3) U fawa (4) [T
YO icsscasiaing is the last person in the chain who sells his products and services

to the customers.

(1) Agent | (2) Retailers

(3) Dealer (4) Manufacturer

.......................... sgaen ¥ siftm @fdm & o UEGT BT AT TG qon Aarel B du
e

(1) 3ot (2) @axr faman

(3) SIer (4) fafFEtomat

(30)
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109.  Go Frungal's report provides :
(1) Comprehensive stock analysis
(2) Sales & purchase analysis based on product

(3) Distributor, manufacturer, category & returned transaction
(4) All of the above

M-%7d &) Rure Iuzrer s 2 -

(1) favga e fgewyy

(2) S@E w auRd fawa @on #7 fvawn
(3) faavs, faffmieal, ot o et gager
(4) I )

110. Which of the following is not a function of accounting Exercise ?
(1) Classification of accounts
(2) Preparation of financial statement
(3) Decision making
(4) Analysis of financial statements
e § -1 o 9T @ el T8 8 2
(1) oran &1 geftee
(2) fairg fRaor o1 T
(3) Fvta fFmior
(4) faxirg e &1 fveyo

111, Carriage outward which is the expenditure incurred on sale of goods is
recorded in :

(1) Trading account

(2) Profit and loss account
(3) Balance sheet

{4) None of the above

(31) P.T.O.
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114,

113.

114.

wﬁqﬁaﬁmmmzﬁﬁwwemwmﬁaﬁmmm%r

(1) HUR Gl A
(2) @™ Td & @ A
(3) s Rreat A
(4) S AR 7 €

Who of the following is the author of the book ‘Crime and Punishment’ ?
(1) Sakharov

(2) Boris Pasternak

(3) Fyodor Dostoyevsky

(4) Mikhail Solokhov

FT5H (TR IRRRIT e R B el § ) d9Ed B E 7

(1) ¥@RY

(2) FINY TRTIATE

(3) FER ERdERG

(4) framge WEmEE

Who of the following demarcated the boundary line between India and
Pakistan ?

(1) Lawrence (2) Straffor cripps

(3) Cyril Radcliffe (4) Mountbatten

WIE a1 gifewas @ dra A Y & AR [ A A e e ar ?
(1) ara (2) TP fy

(3) weRa vefFas (4) #3vEaeH

Which of the following was the effect of the Glorious Revolution in England ?
(1) The end of the rule of the Tudors
(2) The establishment of the supremacy of Parliament
(3) The commencement of the rule of the Stuarts
(4) The rule of the House of Hanover ended
(32)
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18P/306/25(Set-1
Wﬁ%@(@%ﬁ;ﬁmmaﬁﬂwmmm?
(1) cys¥ & 9™ &1 |G
(2) TEE B T B e
(3) TWHEH & I HT IR
(4) TR G TR @ I BT T

Who of the following become acting Governor in the event of Governor's death ?
(1) Chief Minister

(2) Person appointed by the prime minister

(3) Chief Justice of High Court

(4) Speaker of the State Assembly
Waﬁﬁmmmm%uﬁwaﬁﬁamﬁ%?
(1) e

(2) warEA gRI Ay efa

(3) ST UATH BT Y TR

(4) fam w1 H1 Seus

Which of the following is a 'greenhouse gas' and produced in waterlogged rice
fields ?

(1) Methane (2) Carbon dioxide

(3) Nitrous oxide (4) Ozone

T AME YA & @d 5 7 4 F - 9 e v s e 2 2
(1) #= (2) PTEA STFIHTRIGS

(3) TEEH Siiwge (4) S

Temporary hardness of water is due to the presence of :

(1) Calcium sulphate (2) Calcium bicarbonate

(3) Magnesium sulphate {(4) Calcium chloride

T @ el wewar Brdr @

(1) ofewas Gedbe o IuRefy | (2) dfeaas aaEFe @ g 4

(3) #+Rrm wewe # IyRefa | (4) dfeuon Feivigs @) IuRafy |
(33) P.T.O0
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118.

119.

120.

Temporary tax levied to obtain additional revenue 1S called :

(1) cess (2) rate

(3) fee (4) surcharge

R o T B @ o o) @R @ @ FEd &

(1) &9 (2) ¥

(3) W (4) |

The layer of atmosphere nearest to the earth’s surface is called :

(1) Exosphere (2) Ionosphere

(3) Stratosphere (4) Troposphere

god) @ TaE A Prbedd dped B WA FEEr €

(1) TR (2) STNAREIU

(3) WERBIR (4) FTORGIR

Relics of Buddha are preserved ina:

(1) Vihara (2) Chaitanya

(3) Stupa (4) Monastery

gl T a9y {;{@Iﬂ g :

(1) faer # (2) "Ad=1 ¥

(3) wIH (4) AR #
(34)
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GRSTR E BT 3 0 R R ra s DI AR L B 2@l WAl dedlel @l i
FUopoid) R B 6T |

Ve el H BdRLuy A SR fRRa A [ g Al el i

I § R

CGAIR e Ud Sedtn Ui (30 TuE &) 9 o7 o Al S L ST RRE b RO
TGN FGSF ONR T TE BT B Hodieh fdei

FRIRTRI: T7 01 ot i S B HOE 1R 2 e (6 R ST R LA

PG FR | TET-TE] HALTD B T8 FEA-GRTHT bl HAG V1 [ F7 wmT Ul e
R fad |

OMR JER-TF B HuW YR OY 0 W ager arpeaia FatRd i e jHE qar e R g

Fe Wil 3T0 BETeUH WY SFEHETH RN Pl iEl il g o s T g
TG TR SRR Al AR 3o UHn 3y A N B
}‘1‘]‘:' g f]

it afaftedl § mid 1 uRadw wa Ale@ gro AT Cal S we e
$lded cb) T HTET SO )

gea-ul¥amt § WlH U @ dil GRoUS T {30 4N R Bkh YR F SEETIR e
3 ONR Gen-Go &) WFFRRT IfRT & TP JQW A T i el e il e 3 o
N4y 6 IFTAR AA-TEE U QN FE 2
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